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COMBINATORIA 

Problema 91: 

Resolver la ecuación: 

2 · ൬
2𝑥

𝑥
൰ = 7 · ൬

2𝑥 − 2

𝑥 − 1
൰ 

Supuesto que x es un número natural. 

Solución Problema 91:  

2 · ൬
2𝑥

𝑥
൰ = 7 · ൬

2𝑥 − 2

𝑥 − 1
൰ 

Sabemos que: 

𝐶௠,௡ =
𝑚!

𝑛! · (𝑚 − 𝑛)!
  

Lo aplicamos a la igualdad: 

൬
2𝑥

𝑥
൰ =  

(2𝑥)!

𝑥! · (2𝑥 − 𝑥)!
=

(2𝑥)!

𝑥! · 𝑥!
  

൬
2𝑥 − 2

𝑥 − 1
൰ =

(2𝑥 − 2)!

(𝑥 − 1)! · [(2𝑥 − 2) − (𝑥 − 1)]!
= 

൬
2𝑥 − 2

𝑥 − 1
൰ =  

(2𝑥 − 2)!

(𝑥 − 1)! · (𝑥 − 1)!
 

Luego: 

2 ·
(2𝑥)!

𝑥! · 𝑥!
= 7 ·

(2𝑥 − 2)!

(𝑥 − 1)! · (𝑥 − 1)!
 

2 ·
(2𝑥 − 2)! · (2𝑥 − 1) · 2𝑥

(𝑥 − 1)! · 𝑥 · (𝑥 − 1)! · 𝑥
= 7 ·

(2𝑥 − 2)!

(𝑥 − 1)! · (𝑥 − 1)!
 

2 ·
(2𝑥 − 2)! · (2𝑥 − 1) · 2𝑥

(𝑥 − 1)! · 𝑥 · (𝑥 − 1)! · 𝑥
= 7 ·

(2𝑥 − 2)!

(𝑥 − 1)! · (𝑥 − 1)!
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2 ·
(2𝑥 − 1) · 2𝑥

𝑥 · 𝑥
= 7 

2 ·
4𝑥ଶ − 2𝑥

𝑥ଶ
= 7 

8𝑥ଶ − 4𝑥 = 7𝑥ଶ 

8𝑥ଶ − 4𝑥 − 7𝑥ଶ = 0 

𝑥ଶ − 4𝑥 = 0 

𝑥(𝑥 − 4) = 0 

Dos soluciones: 

X= 0 no es válida 

𝑥 − 4 = 0 

𝑥 = 4 

 

 

 

 

 

 

 

 

 

 

 

 

 


